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Octisz ==& 19,558
—JlEs 78,8803 x1H#175& 13,804
-5+ 78,8803 x 1 »45L 3,550
—28= 17,354,0002 %12. 7% 2,204
201 fer= 3| 47,426 36,483 10,943
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OHFst U MAQS
40,0002 63| &~ 123 2,880
Oulgxel 2ERs 3,816
—au 3003 x58024 123 2,088
—SI 2,100& 602 122 1,512
= 1,800& %1024+ 12& 216
OJIEt =23 100,000 x4 | 400
03 A= SHI 13,500 0 13,500
oulle g S MRS 13,500
—HANE (R, S, =Y )
11,700,000& *13] 11,700
—clZ2 M& 1,000 ~6665 666
—s 0 HE 70,8502 * 160H 1,134
202 04dl 450 500 A50




2H: SED
M FOIF0] XY AE(LHD)
ol esle BE D (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 2LHoIH 450 500 AB0
O=UHbI(Z2) 450,000 450
301 EtE2 N = 124,800 125,250 A450
07 S8 -0 - 2243 120,750 120,750 0
Ocl - 289 & 24| 120,750
—Jl2+g 300,000 x25H 122 90,000
—&0=2 300,000 x25& »23] 15,000
—5lolg Mg
20,0003 x25H+23|x 12 12,000
—EryE S| 25,0002 x75H *23] 3,750
11 #AIAHIXIE S 4,050 4,500 A450
o0&t J&IX At
90,000 x25 & %12 2,250
ORXOHZ A2t ZD{cHHAF 0 X2
1,800,000 %13 1,800
Azl 291,909 305,453 A13,544
201 eer23| 291,909 305,453 13,544
01 AtR2t2|HI 27,216 30,360 A3, 144
OF2UXIHYH S 2cles 28 23,760
—HAES 270,000 x4 5+62] 6.480
—3Y¥AE EElsx 2,700,000 *62 16,200
—2g8E3 45,0008 x4 5+62 1,080
OFEAL &4 U gXts
288,000 x 122 3,456
02 s3=gHl 264,693 275,093 10,400
OFAM S AEZeIRXH| 11,004
—A&2e|KFX 800,000& 122 9,600
—CCTV, Hia& 2E22]
77,0002 128 924
—2AESSEYE ?let M| =L
40,0003 * 122 480
OHF=SXHE S IS (WY TE) 162,600
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M FOIF0] XY AE(LHD)
ol esle BE D (12l M2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
-5+ 78,8803 x 18 »44 3,471
—28= 20,824,320 %12.7% 2,645
201 fet=23y| 62,035 51,625 10,410
01 AtR2tc|HI 12,425 10,525 1,900
0SSy 2Z2AN 248
25,0002 %12 25
OFBIAIRIAS Eaitg
11,100,000 11,100
OZ0INZK T2 S B 840
150,000& #27H 2-+32 900
Oz 238X 7Y
100,000 *48+ A 400
02 S5=24g4l 49,610 41,100 8,510
O==g 29 H=t
1,3473+3,000 £ 102 40,410
O=sg 4| 1,500,000 23] 3,000
O==g 28=3 & 4S54l
500,000& * 102 5,000
O==g 24 |2l
300,000& 42 1,200
202 04l 300 500 A200
01 =LHAHI 300 500 A200
O=Hobl 300,000 300
206 MH=H| 5,400 6,000 A600
01 M=4l 5,400 6,000 A600
OFUIA 28 2HES
540,0002 =102 &t 5,400
301 LELE NS 15,000 30,000 A15,000
14 JIEt2 8= 15,000 30,000 15,000
O=QXX T2 LAtZ
100,000 x 102t £+ 153 15,000
405 AtatE = 600 3,000 22,400
01 ML ESFSHI 600 3,000 A2,400
oxe=sE sl 600,000 1CH 600
A2 Ot A= 300 300 0
201 et 3| 300 300
01 At22t2l] 300 300
oglgel -=&4| W 50,0002 65 300
=0l AS T& 2,296 2,440 A144
201 er23| 1,59 1,740 A144
01 At2tltl 1,59 1,740 A144
OSSN HAES 7Y
25,0003~ 122 300
OHESAE 2184 AYEE € 22
=t 108,000 ~12& 1,296
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202 0idl 700 700
01 =WHO4bI 700 700
O=Uodl(aret) 700,000& 700
ARl Al 2tel 175,797 165,309 10,488
101 2124 d| 156,913 145,222 11,691
M I1RIZ2Z2XsE+ 156,913 145,222 11,691
OAIFRI Y| 212 4,801
—JlE2= 78,8803 x 1«45 3,550
—=54 78,8803 *1H+x 0 710
—-S&8= 4,259,520 %12. 7% 541
OFHEZ XA o2
78,8803 x15F x4 4,733
OMEEaHddEE A (LE, RES) 75,387
=Jl=2 78,8803 *4H x 176 55,532
—=54 78,880 x4 362 11,359
—=2&& 66,890,240 *12. 7% 8,4%
OotH 0|4 stalae| AR ZEL
Hel) 4,801
=Jl=2 78,8803 x 12«45 3,550
—=54 78,880 *1H 9 710
—S2&8s 4,259,520 %12. 7% 541
OZ& X S33E4A 2el 11,114
=Jl=22 78,8303+ 1E*104 8,204
—=54 78,8803 1221 1,657
—-S&8= 9,860,000 *12. 7% 1,253
OHssd 22 17,070
—JlE2= 78,830 *1E*160 12,621
—=54 78,8803 1232 2,525
—-S&8= 15,144,960 *12. 7% 1,924
OgoArs ol 29,871
—J|IE2= 78,830 *2EH 140 22,087
—=54 78,8803 x2H +28 4,418
=A== 26,503,680 *12. 7% 3,366
Oootserd & dz S| o2y 9,136
—Sg08 208,527 & x2H x7 U +23| 5,839
—28o8 161,858 x1F »7 23| 2,267
=A== 8,104,768 x12.7% 1,030
201 L2 | 7,922 14,862 6,940
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01 MHZHl 4,718 5,225 AB07
PAHASI| gg Y SHAE 7Y 4,718
—SeYR 1,765%%1,079.5 ¢ 1,906
—greiorE 9l JIE}S
12,4503 #2500 2 2,812
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ogdEL=)| 78 6,244,000 = 1CH 6,244
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OXNSA2 2SN A=
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401 AlZHIZ SO 40,000 40,000
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01 AlEHI 268,485 237,435 31,050
Ot s& ZESA
175,000& *120m 21,000
Ot 82 Ex3M
560,000 *28m 15,680
OFEOIS A= EXISAM
203,000 *100m 20,300
OUits =2 & s2 ZAt
203,000 *100m 20,300
OotEitE =2 & =2 E3At
406,000 *60m 24,360
Oolgits 21583 =2 & =2 AXISAt
175,0002 *125m 21,875
OA=0ts 82 EX3A
266,470 *88m 23,450
O0I&0tE XlditE &= &EXIZA
525,000& *30m 15,750
O+3H012 AP B4Z E22AF
203,000 *100m 20,300
O¢ISF0ts 2Y0lZ2 A=3At
364,000& *50m 18,200
OTNOIE 842 B4TA
266,000 *80m 21,280
OS2 Z2NE 842 B3At
399, 0002 *60m 23,940
OH=0IE =2 SEESA
339,230& *65m 22,050
03 AIE 2 CHHI 2,900 2,565 335
OZ0IZ0] OlAAr (132)
268,485,000 *1.08% 2,900
HY2AAH(LAH) 60,823 61,638 815
=&l 60,823 61,638 AB15
A J1238| 59,893 60,708 AB15
201 B2 AL| 5,443 6,048 AB05
01 ArR22ltl 5,443 6,048 AB05
OJ|2ge=a 21,509 +218+12& 5,443
202 Ot 40,950 41,300 A350
01 =WO4bI 3,150 3,500 A350
OJ|2ge=d 3,150,000& 3,150
02 XML 37,800 37,800 0
@F=ELiC]] 150,000& x21H + 122 37,800
203 PR =&IH| 13,500 13,360 140
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